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PARLIAMENT OF INDIA
(JOINT RECRUITMENT CELL)

EXAMINATION FOR RECRUITMENT TO THE POST OF RESEARCH/REFERENCE ASSISTANT IN THE
LOK SABHA SECRETARIAT AND RESEARCH ASSISTANT IN THE RAJYA SABHA SECRETARIAT

24" DECEMBER, 2006
PAPER- I : GENERAL KNOWLEDGE & CURRENT AFFAIRS AND GENERAL ENGLISH

INSTRUCTIONS : (i) Write your Roll No(s) at the appropriate column(s) on the answer sheet, (ii) Put "X’ mark only in
the correct Box like this {X}. No marks will be given for responses outside the Box. Use blue or black pen only to mark your
response. (iii) In case you want to change your response to any question, fully blacken the first response like this
and {X} mark in the correct Box.

Time : 50 Minutes Marks : 100
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PART - A : General Knowledge and Current Affairs

The second largest economy in the world after USA is

(A) China (B) U.K. (C) Japan (D) Germany

The Chief Election Commissioner of India holds office: (A) for 6 years (B) during the pleasure of President
(C) for 6 yeas or till the age of 65; whichever is earlier (D) for 5 years or till the age of 60, whichever is earlier
The Future of India is a book written by which of the following economists

(A) Dr Bimal Jalan (B) C. Rangarajan (C) K.J. Udoshi (D) Rakesh Mohan

For negating the mandate of which constitutional provision, the Supreme Court of India has held
the lllegal Migrants (Determination of Tribunals) Act, 1983 as unconstitutional?

(A) Article 249 (B) Article 355 (C) Article 11 (D) Article 359

From the systems of which of the following countries the concept of ‘judicial review’ was
incorporated in the Indian Constitution (A) UK. (B) Ireland (C)USA. (D) France
Which among the following match of the book and its year of receiving the Booker Prize is incorrect?

(A) The Sea-2005 (B) The Line of Beauty - 2004 (C) Vernon God little-2002 (D) The Inheritance of loss — 2006
The Ex-officio Chairman of the Planning Commission is

(A) President (B) Vice-President (C) Prime Minister (D) Minister for Planning
The ordinance issued by the President must be approved by the Parliament within :

(A) Six weeks of its issue (B) Six weeks of the re-assembly of the Parliament

(C) Six months of its issue (D) Two months of the re-assembly of the Parliament

How many teams participated in the recently concluded 18" FIFA Football World Cup 2006?
(A) 32 (B) 35 , (C) 34 (D) 31

In the recent past, India has made a huge investment in Sakhlin-I oilfield. Where is it located?
(A) Bangladesh (B) Sri Lanka (C) Russia (D) Indonesia

Which region in India is known as the ‘Rice Bowl of India’ (A) North-east region

(B) Kerala and Tamil Nadu (C) Indo-Gangetic Plain (D) Krishna-Godavari Delta Region
Who of the following is currently the Prime Minister of Japan

(A)Junichira Koizumi (B) Mori Yoshiro (C) Shinzo Abe (D) Hashimoto Ryutaro

Ban Ki-Moon from South Korea has been elected as the Secretary General of U.N.O. He is the (A) Seventh
Secretary General  (B) Eighth Secretary General (C) Sixth Secretary General (D) Fifth Secretary General
The Members of Rajya Sabha are (A) Directly and indirectly elected (B) Directly elected and
nominated (C) Indirectly elected and nominated (D) Only nominated

The President can be impeached by : (A) Absolute majority of the Parliament (B) Two-third majority of Parliament and
State Legislature (C) Two-third majority of each House of Parliament (D) Simple majority of the Parliament

-Which one amongst the following is nearest to the sun?

(A) Earth (B) Mars (C) Mercury (D) Venus

Consider the following statements on the basis of Census 2001- (1) In Kerala, the sex ratio is in
favour of females (2) Next to Kerala, Mizoram has the highest literacy rate in India. Which of these
statement(s) is/are correct? ;

(A) only 1 (B) only 2 (C) Both 1 and 2 (D) Neither 1 nor 2

Which of the following is known as the Garden City of India?

(A) Amritsar (B) Kolkata (C) Bangalore (D) Jaipur

To welcome which member of the British Monarchy was the city of Jaipur painted pink in 18767
(A) Prince George (B) Prince Williams (C) Prince Albert (D) Prince Charles

Which Rani of Mewar solicited Humanyun’s help to lift the sieze of Rajput Fortress of Chittor by
Bahadur Shah of Gujarat? ‘

(A) Rani Padmavati (B)Rani Karnavati (C) Rani Jodhabai (D) Rani Gayatri Devi

The Kushanas had their capital at:  (A) Sialkot (B) Purushpura (C) Lahore (D) Kabul
The Parliament can make any law for the whole or any part of India for implementing international treaties
(A) with the consent of the States (B) with the consent of maijority of States

(C) with the consent of the States concerned (D) without the consent of any State
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How long does a national emergency, duly proclaimed under Article 352 of the Constitution of
India and approved by the Parliament, remain in force? (A) for a maximum period of 3 years (B) for
the remaining period of the life of the Lok Sabha that approved it (C) for five years (D) until repealed
In which State chromite is found in abundance

(A) Maharashtra (B) Madhya Pradesh (C) Orissa (D) Karnataka

Which of the following pairing is wrong?

(A) Berne — Sweden (B) Copenhagen-Denmark (C) Oslo-Norway (D) Prague-Czech Republic
Who was the inventor of atomic bomb?

(A) Dr. J. Brondenbugu (B) John Harrison (C) Dalton (D) J. Robert Oppenheimer
Where the National Centre of Antarctic and Ocean Research in India is located?

(A) Goa (B) Kochi (C) Chennai (D) Hyderabad

Manu Smriti is related with

(A) Economics (B) Political Science (C) Medical jurisprudence (D) Law

By which amendment of the constitution the number of Ministers was limited to 15% of the total
membership of the House? (A) 91% (B) 92™ (C) 93" (D) None of these
How many fundamental duties are mentioned in the indian Constitution?

(A) 10 (B) 11 (C) 12 (D) 09

The Right to Information Act, 2005 extends to : (A) The whole of India (B) The whole of India except
Jammu and Kashmir (C) The whole of India except Jammu and Kashmir and Punjab (D) None of these
Which of the following is wrongly paired?  (A) Bhakra-Nangal -Sutlej (B) Salal Project — Beas
(C) Damodar-Ganges (D) Hirakud — Krishna

For how many days in a year the National Rural Employment Guarantee Act, 2005 provides for a
legal right to guaranteed employment?

(A) 125 days (B) 150 days (C) 100 days (D) 183 days

Who was the Hindu King shown playing on the veena on ancient coins?

(A) Shivaji (B) Vikramaditya (C) Samudragupta (D)-Ashoka

Who among the following has been chosen for the Gandhi International Peace Prize for the year
20067? (A) Aishwarya Rai  (B) Shabana Azmi (C) Medha Patkar (D) Indra Nooyi

Which of the following countries recently conducted a nuclear test defying international pressure?
(A) Venezuela (B) Brazil (C) South Korea (D) North Korea

Where did Gautam Buddha deliver his first sermon?

(A) Sarnath (B) Gaya (C) Sanchi (D) Rajgriha
Which of the following countries is not a Member of the European Union?

(A) Lithuania (B) Finland (C) Sweden (D) Norway
Fastest hundred in Test Cricket was scored by

(A) Shanhid Afridi (B) V. Richards (C) Adam Gilchrist (D) Kapil Dev
Who out of the following is presently the Central Vigilance Commissioner?

(A) P. Shankar (B) Pratyush Sinha (C) B.N. Srikrishna (D) N. Vithal

A state ruied by a few persons for the good of all people is known as

(A) Monarchy (B) Aristocracy (C) Oligarchy (D) Democracy

Why does a stick partly immersed in water appear to be broken at the junction of water and air? This is due
to (A) Scattering of light (B) reflection of light (C) refraction of light (D) both (A) and (B)
Which one of the following yields the largest revenue in the Central Budget?

(A) Excise duty (B) Sales Tax (C) Income Tax (D) None of these
Which is the smallest State of India in terms of area?

(A) Sikkim (B) Goa (C) Tripura (D) Nagaland
Which State of India has the highest population density?

(A) U.P. (B) Kerala (C) West Bengal (D) Bihar
Which among the following is India’s first indigenously developed missile?

(A) Akash : (B) Prithvi (C) Agni (D) Trishul
Which of the following gases is mainly responsible for the Greenhouse Effect?

(A) Sulphur Dioxide (B) Carbon Mono-xide (C) Hydrozen Sulphide (D) Carbon-dioxide
Which of the following is the deepest ocean of the world?

(A) Atlantic Ocean (B) Arctic Ocean (C) Indian Ocean (D) Pacific Ocean

Who among the following decides whether a Member of Parliament is subject to any disqualification or not?
(A) President  (B) Speaker of the Lok Sabha  (C) Chairman of Rajya Sabha (D) Either Speaker or Chairman

In which of the following sports events held recently during the Asian Games at Doha India failed
to get a medal? (A) Boxing (B) Wrestling (C) Hockey (D) Shooting

StudySite.org


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

StudySite.org
ARG P TS StudySite.org
(egam W YD)
mwmﬁm/wmqéwmmﬁmmﬁaﬁﬁﬁuﬁm
q 24 fawwR, 2006
~T
focer (i)wmﬁmwﬁmmw{m (ii)qgﬁmfﬁmﬁxmﬁwm(iii)aﬁﬁsﬁwmam
mmﬁﬁmmwﬁ-wwqﬁmmmaﬁmwﬁamﬁ(x)zmﬁ*zn?{ Y |
w74 : 50 fFe & © 100

1, mwmﬂma‘»mmmm: @ A" (9) gecs fbreq () SO (&) S
2. gmﬁafaﬂmmmm: (®) 6 ¥ & foQ () R & SRR v
(vr)zsaémesaéaﬁmaﬁﬁqzéfgﬂi?r (8) 5 ¥ a1 6o a¥ A Iy S A e T &
3. ﬁmﬁﬁaﬁﬁﬁﬁaﬁmﬁmﬁm?&ﬂwﬁmﬁz
(@) < fme e (9) . TR (M) & 3. I (8) ToE Ae

4. m%wm#mmmﬁ ' meaﬁmﬁa‘)mmﬂwﬁmﬁaﬁrﬁn‘f
mw)mﬁmmaaﬁmﬁﬁmﬁ%aﬁﬁﬁvﬁm:

() ST 249 (@) DT 355 () TR 1 (B1) 3BT 359
5. m%ﬂﬁaﬁﬁﬁﬂmﬁﬁﬁﬁm%ﬂaﬁﬂmm%mﬁwyﬁsﬁmw@%mﬁa@ﬁmﬁ
O AT § (@) gTeee fred (@) amRere () g X IERIBT (a1) BIE

6. mgﬁﬁa%mgmmmmaﬁmaﬁmmgm%?
@) f& H2005 (@) R o 31w a0 () A e foreet —2002 (5) f R offt R—2006
7. mmamm(mmmm): '

(@) Iszuf (@) ST () W A (a) grer 7= (R BR i) 8

8. mﬁmmmﬁmmamwwm HY g o ey
(m)arﬁ%ﬁaﬁ%%m%wﬂm (@)W%gﬁ:ﬂqﬁaaﬁa‘»wwa‘zw
(ﬂ)mﬁmwﬁa%wqﬁ#a‘ﬂﬁm (H)Wa%g:{:waﬁ‘sﬁa%awzﬁw

9. mﬂﬁnﬁwm.m.w.q.)gmﬁﬂmzmaﬁmﬁﬁia@zﬁ%wm?

- (@) 32 (@) 35 () 34 (71) 31

o, o Ee & ¥ ARa 3 A s vie Fad PRw ¥, we Rru dw A Rem 2

(@) ST (@) shciet (m w4 (=)
1. w%ﬁaﬁm/a’ﬁﬁmaﬁﬂmmmm%: () STR—Tdl & (@) @ R ATy
(ﬂ)wﬁWﬁwmm(ﬁ-WW) (8) Fom TR SeeT &
1o TH I WO §1 Y A B g () ST IO (@) A% ARR () RIS T (=) el el
13, maﬁﬁma%mﬁwmwwa%mﬁaﬁwwﬁafmgq%ﬁ%—

() wrad wertud (@) amod HETa () TS W (8) wrad TR
14, ST GE D GEW
(m)waaﬁwﬂaaﬁw@ﬁaﬁﬂgﬁﬁ (@)W&?w@ﬁaﬁﬁﬁﬁ%‘aﬁ?ﬂmﬁ%mﬁsﬁ%‘

(H)Wamﬁﬁaﬁﬁaﬁ%mwﬁﬁtz%ﬁm% (8) dae = e € &
15. v@hwﬁﬁm@aﬁ@m%mmmwm%:
(@) W & I 4EHd B BN (E)Wﬁ?mﬁﬂﬁmiﬁaﬁﬁéa@ﬁzﬁm
(W)Wa%aﬁwaﬁeﬁaﬁzﬁa@ﬁzﬁm(a)ama%mmzﬁm
16. Preffag 3 @ a4 @ @ Poem @ (@) T (@) et m @ (6) &
17. aézomaﬂmwa%mwﬁﬂﬁmﬁﬁawﬁwﬁmﬁ(1)a§vaﬁgwﬂaﬁwﬁqﬁma?aﬁm
mg(z)mﬁm$mmﬁmmmznmmmmz:

(ap) @t 1 (@) Fad 2 () e R AT A (@) 2 H 9 I8 T
18. Wﬁﬁﬂwmwwmmw(ﬂaﬁ&)m%
() IR (@) Predr () FTAR (8) TR
18. ﬁﬁwma%MHawa‘»wm%m1s7sﬁqéaug<ﬁ§mvﬁwwwmwm:
(@) fiiT Tt (@) fif faferam () foie v (@) g ot

StudySite.org
StudysSite.org


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

StudySite.or
Y J StudySite.org

2. W%wmmaﬂﬂﬁﬁs$w@gﬂﬁmﬁm@$mmﬁﬁmw#§®é
wargar A ot () T+ TrEATERH (@) Y ot () T S () <R T <
2. @ U A IeEE (@) R (@) TEIRI () @R () Brget
2. mmmﬁ@mﬁmma}MWWﬁmm*ﬁmwwwﬁﬁ% | g forg —(@) Wl
. i ' } ¢ % (@) R R Ton o wewd e fard T
23. m%%%@aszammmm)mmmmﬁammm

(a)mmwmmﬁamwﬁmmmw () ara a8 7@ (8) faeea fopU o @
Fpg vou ¥ MR $1 SR HeR IUaw § 7 () N (@) T W (M) SeN (|)) Bicd
05 et ¥ Q o W e T € ? (@) -weT () PRI —STE (1) AR (6) e A
26. mmwmaﬁmaﬁam?(a)ﬁ@.m (@) o e (1) i (8) 9. I ATRFAR
27. w%%mﬁwmmmvmﬁ'(ﬁmﬁamm Je atee Rud) fera

2?2 (@) Wem (@) B R (&) Ee=raTe
28. ﬁmmﬁmﬁ@mme:@)m(@)wﬁﬁm () Ffreta fofy o (3) fafe
29. ﬁmﬁﬁmﬁwmﬁmﬁhﬁaﬂmﬂmaﬂagamm15%amﬁrﬁamffmﬁ:

(@) 913 a FIH (@) 929 af WA () 93¢ @i HeA (@) ¥ @ 3 T
0 ARG @ Hu § e e odal meww Y (@) 10 (@) 11 @ 12 (=) 09
31. Wwaﬁmﬁmﬁmms‘wﬁﬂﬁrﬂmﬁﬁﬁmﬁm%: (@) T A # (@) o AR TR B
arfeRRed @R ARd | (n)avisﬁ?m»ﬂ?awm?ﬁmﬁrﬁaﬂ{éwﬁ (@) o & TE A T
T A BN S T @ () TEe-Te-Hag (9) TeTe URASHI-E (1) TR (8) SREs-FT

33, WWWWW.M§§MW%$W&M&WM%W#

Jqafe e T & 7 (@) 125 A (@) 150 fa (m 100 fed (&) 183 f&A
34. WWWW%’H%W#IMWW@WWW%?
(@) Rrarsit (@) fspartacy () |YEd (&) 3remeh
35. aézmﬁmmmf@amﬁm$mm1’@aﬁﬁmam%mw%?
(@) tegd I (@) e AT () FEm UTEANR (&) geeT T
36 maﬁmw#mmﬁumaﬂm%‘mmmqfrmm%?
(@) (@) st () <fiyer sifvar (&) SR HIRAT
a7. oW g 3 Uee YauA FE f6un O1 ? (@) W (@) = () = (@) TTE
38. ﬁmﬁ%ﬁﬁﬁmwhwwmﬁmqﬁﬂ)mwﬁ%?
(@) forgenfrar (@) frele () e (g)
a0 Prefufd § @ e O fhee ¥ W ol Aad o o1 7
(@) wfeg I (@) fafew Redw () e firfive (@) @
w0 PrEffed ¥ oW P wen agw § 7 (@) 0. 9w (@ v Reer (M) @ g S (8) . facea
a1. mm%ma?ﬁ-rQ@wmmmmm?rmaﬁ:(m)W (@) Ifem @ () e A () e BEd §
42, ﬁnﬁBé,’rmuﬁ‘rﬁ@@mqﬁl%mmﬁuﬁﬁﬁﬁﬂ%ﬂﬁﬂﬁm@ﬂmﬁaﬁm%?
(a)m%%aﬁ(ﬁﬁvﬁnma@)ﬁw (@) v & Wi (Reerd) & HR
() W & aacH (R & P (8) S s (@) iR (@) B IR
5 T o B e SUIGT Ien e T W W g @ 7
(&) SR Yo (@) fas o (T) omg (@) g7 & 313 0
4. ﬁﬁq&ﬁmmwﬁmﬁawmm%?@)ﬁﬁm (@) m (m Bgx  (8) ArTers

3T i
5 4RGP Frg U ¥ A @ T qaw ST @ 7 (@) wor Ry (@) e () WRem T (a) fer
46. ﬁﬁﬁ%ﬁﬁﬁﬁﬂﬁﬂﬁﬁﬁﬁ@mm%ﬂﬁﬁﬁmwﬁ? @) srarw (@) g () 3 (8) BrE
47. frefefed 3 Q fow e @ RO A goW g g @ ?

() TOHR SUIHIES (@) FrdT AEEe (M) BETSIT AehIgS (&) BT SRIHRIES
48 favg @7 a9 TEU AR DA WL ?
() Iedifcd TETR (@) SR gd (enfad®) FETETR () fie wErER (B) Wi FERITR

49. mmmmwmmwwmﬁﬁmmﬁmmam:

@) Tea (@) A T o (W) (w)mwawa(ﬁmﬁﬁ)(a)aﬁwsﬁﬁ@mﬁmzﬁam
50. wmaﬁﬂaﬁmm@m‘ﬁaﬁﬁ@ﬁmﬁaﬁwﬁmﬁtﬁwaﬁﬁm?

(@) afarT (@) (m) e (m) wfew

StudySite.org :
StudySite.org


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

StudySite.org

StudySite.org

51.
52.

53.

85.
56.

57.
58.
59.
60.
61.
62.

63.
64.
85.
66.
67.
68.

69.
70.
7.
72.
73.

74,

e

PART - B : GENERAL ENGLISH

Select the correct preposition:

Hard work is the real key ___success.

(A) of (B) to (C) with (D) for

For a nation to be healthy, its young boys and girls should possess a zeal ___sports.
(A) of (B) in (C) with (D) for

Put ___ the lamp at once.

(A) on (B) off (C) out (D) up

It seems that you have not been able to look ____ his game.

(A) through (B) after (C) for (D) up

Birds live ___ trees.

(A) in (B) on (C) at (D) upon

The three robbers divided the loot ___ themselves.

(A) between (B) among (C) into (D) within

Fill in the most appropriate word (s):

| gave the beggar ___ money | had.

(A) little (B) a little (C) the little (D) no

Ram Lal is the __ man in our town.

(A) older (B) elder (C) eldest (D) oldest
The expedition ended in ___failure.

(A) utter (B) utmost (C) uttermost (D) outermost

I am looking for my pen; it should be ___in the room.
(A)anywhere (B) somewhere (C) nowhere
A soldier would rather die than ___ his arms.
(A) to lay down (B) lay down .
___live in the same hostel.

(A) I, you and he (B) He, youand |

(C) laying down
(C) You, heand |

Select the synonym of the following words:

Precision

(A) brevity (B) accuracy (C) elegance
Idolize

(A) adore (B) beautify (C) guide
Exquisite

(A) extra (B) beautiful (C) sharp
Valiant

(A) intrepid (B) afraid (C) expensive
Flummoxed

(A) clear-headed (B) tight-lipped (C) confused
Milieu :
(A) meals (B) environment (C) distance

Select the antonym of the following words:

'Exhume

(A) unearth (B) bury (C) dig
Slipshod

(A) clean (B) muddy (C) reckless
Diffident

(A) anxious (B) timid (C) certain
Innocuous

(A) harmless (B) harmful (C) new
Corroborate

(A) contrast (B) confirm (C) contradict
Reluctant

(A) bored (B) lukewarm (C) eager

(D) everywhere
(D) lie down

(D) I, he and you

(D) presentability
(D) decorate

(D) large

(D) fast

(D) conceited

(D) energy

(D) build

(D) carefui

(D) confident
(D) old

(D) correspond

(D) dull

StudySite.org

StudySite.org


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

StudySite.org

StudySite.org o e

V. Complete the idioms used in the following sentences:
75. Being a teacher is no __ of roses these days.

(A) bunch (B) bed (C) bouquet (D) bundle
76. The police said that their inquiries had unfortunately come to a ___end.

(A) dead (B) closed (C) long (D) short
77. A good salesman always has the gift of the _____

(A) gab (B) mouth (C) tongue (D) speech
78. He entered the dark, deserted lane, with his heart in his

(A) hands (B) mouth (C) chest (D) eyes
79. Yesterday, after a brief illness, he kicked the . e

(A) mug (B) jar (C) bucket (D) vessel
80. Earlier we used to go to movies often: now, we goonceina___ moon.

(A) new (B) fuli (C) blue (D) yellow
81. I don’t know what | am going to do. | shall just playitby . -

(A) nose (B) eye (C) rules (D) ear
82. Suresh is the ____image of his father.

(A) sharp (B) exact (C) splitting (D) spitting
Vi. Complete the similes in the following sentences:
83. Heisasblindasa____.

(A) bat (B) cat (C) rat (D) button
84. Sheis as deafasa___ .

(A) mole (B) bat (C) doornail (D) post
85. Look at the child; he is as happyasa___ .

(A) bird (B) lark (C) fairy (D) kite
86. This boy is as obstinate as a et

(A) horse (B) ass (C) mule (D) mare
87. Isn’t it strange? He always looks as stiff as a = n

(A) post (B) statue (C) poker (D) rock
88. They are as thickas ___.

(A) robbers (B) thieves (C) friends (D) planks
VILI. Select the appropriate one word substitution:
89. The story of one’s own life

(A) biography (B) autobiography (C) radiography (D) hagiography
90. An action thought out and planned in advance e '

(A) premeditated (B) premature (C) prelude (D) prejudicial
91. A lover of books

(A) bibliophile (B) audiophile (C) logophile (D) cinephile
92. Knowing everything

(A) omnipresent (B) omnipotent (C) omniscient (D) omnibus
93. Disease causing inflammation of the liver

(A) meningitis (B) hepatitis (C) gastroenteritis (D) Laryngitis
94. An irresistible urge to steal

(A) dipsomania (B) megalomania (C) pyromania (D) kleptomania
VIl.  Complete the following proverbs/sayings:
95. You cannot make bricks without e
' (A) earth (B) heat (C) mortar (D) straw
96. Beauty is only ____ deep.

(A) inch (B) centimeter (C) skin (D) nail
97. Discretion is the better part of i

(A) valour (B) courage (C) bravery (D) attack
98. There is no use flogging a ___horse.

(A) dying (B) dead (C) still (D) tired
99. There is no such thing as a free —

(A) breakfast (B) lunch (C) tea (D) dinner
100. Why keep a dog and ____Yyourself?

(A) watch (B) guard (C) Bark (D) bother
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